REVISIONS
NOTES: REV. ECN DESCRIPTION BY DATE
A 8000042229 INITIAL RELEASE RIC 08/10/20

1.0 GENERAL
1.1 ALL METRIC DIMENSIONS ARE IN BRACKETS
1.2 FOR PATENT INFO :https://www.cs-pat.com

2.0 DESIGN NOTES
3.0 MANUFACTURING/SPECIAL REQUIREMENTS
4.0 TEST
5.0 PACKAGING
COMMSCOPE, INC. OF NORTH CAROLINA
ITEM  |PART NO. DESCRIPTION QY. NOTE NO. S ERANGES S TR VASTER
1 RRAPEX-0100 WELDMENT, RRAPEX BRACKET 2 DbLAcE xs 25 JoLacE xxs 0.06
2 MTC378%09 RRU HANGER 8 B 0 2 O 2'0 RR-APEX4
3 RRFA-0001-00 BRACKET, RRU MOUNT SMALL STABILIZER 4 TPLACE X+ U. ANGLES =
4 MTC8196 3/8 X 1-1/4" Carriage Bolt 16 FINISH MATERIAL
5 GWEF-03 3/8" GALV FLAT WASHER 16 GALV A123 A1011/A1018
6 GWL-03 3/8" GALV LOCK WASHER 16
7 GN-03 3/8" GALV HEX NUT 16 . T YRR
8 GUB-4355 1/2" X 3-5/8" X 5" GALV U-BOLT 4 8 3 [g[RC 08710720
9 GWF-04 1/2" GALV FLAT WASHER 16 9% o EcAvPEELCON oI APEX 4 RRU MOUNTING
10 GB-04145 172X 1-1/2" GALV BOLT KIT 16 DENSITY boi| g (o
MASS | 83.15 lbs ggg D WCTTO7 U8/T372020
VOLUME | 294.12 in? 22& [Rg [BCROSS 0871372020 SCALE | DOCUMENT NO.
SURFACEAREA 28251 i | 28Z  [EoN 008000042229 1:4 RR-APEX4
HEIGHT SIZE WORK AREA 24 MODEL DRAWING SHEET
LENGTH VERSION STATUS REVISION VERSION | STATUS REVISION
@ 2020 CommScope, Inc. Confidential WIDTH C 6 00 RE A 00 RE A 10F3




4

NOTES:

1.

2
3.
4

PREASSEMBLE HANGER AND RRU'S.

WITH TOP SETS OF ITEMS 9 AND 10 LOOSE, SLIDE HANGER INTO
POSITION THEN TIGHTEN BOLTS FOR INSTALLATION.
PUT THE BOTTOM SETS OF ITEMS 9 AND 10 IN AFTER THE HANGER
AND RRU'S ARE INSTALLED.
TORQUE ITEMS 10 TO 60ft Ibs AFTER INSTALLATION.
RRU SOLD SEPARATELY
17.7]449.7]
0 ~———=— 3.65[92.6] MAX
(9 (10) SEENOTES 284
/N N\ g N\ |
| : é 5 gb
(G )
[ [ [T ]
® @ — 5 @b
155[393.7] 21.7[550.8]
o & ||[<——=| |8 op
[ [ [ ]
] L
v — 4@ @ — @ ®) T
[ | | — !

0@ SEE NOTES 3 & 4

@ 2020 CommScope, Inc. Confidential

COMMSCOPE, INC. OF NORTH CAROLINA

TITLE

APEX 4 RRU MOUNTING
SIZE SCALE DOCUMENT NO.
C| 14 RR-APEX4
DRAWING
SHEET
@ 6 VERSION STATUS REVISION
00 RE A 20F3




NOTES:

LARGE STABILIZER KIT (RRFAK-001L)
SOLD SEPARATELY

23.7(602.6]

I ﬁ:h ﬁ:h I
A2 ORDERED SEPARATELY
RRU ORDERED SEPARATELY
4 N\ ) N\ N\ 'd A ‘
000000 Q©OOQQO - ] 00000 000000
00D QO Q000 ® @> < 5 (ﬁ DOOOO 00000 b
000000 QOOQQO 1 1 D00OOO 000000
Q0®0O 0000 O Ul . . | DOOOO 00000
000000 Q©OOOQO 1 1 DO0O0OO 000000
V0D 0000 ® @) C— (@ DOQOO Q0000 20.4[518.0]
000000 Q©OOOQO I u /A~ DO00OOO 000000
Q0D 0O 000 QO D000 O 00000
000000 Q©OOQQO 00000 000000
Q0D 0O 000 QO D0 OO0 Q0000 | | 1557397
000000 QOOQQQ 00000 000000
00D 0O 0000 O D000 O 00000
000000 QOOQQOO | , D00O0OO 000000
00D 0O 0000 O 5 - D0 OO0 00000
(G ) )
00®0O 0000 O . . N . D000 00000 —-—
000000 Q©OOQQO DO00OOO 000000
JoJoXele JJJdJa E@; @g C— > i @H ol Jolo¥o) 00000 ' APEX 4 RRUMOUNTING
- L jt J[ = £ ' SIZE SCALE DOCUMENT NO.
C| 14 RR-APEX4

@ 2020 CommScope, Inc. Confidential

@ =

DRAWING

VERSION STATUS

REVISION

00 RE

A

SHEET
30F3



	Sheet1
	Drawing View1

	Sheet2
	Drawing View2
	Drawing View3

	Sheet3
	Drawing View4
	Drawing View5


